FRERHRRETHE FRHR

BHI7E07H 156 HRIRFEHE 242, 100kg
HER IRFEMEAS 202, 100kg
F&E HRFTHES TR AE AniE FEH Zik B [BREHE HRFcE4E
(kg) (kg) =1E B =&
EWZ A 18,000 |tV 0 — — —
A% ER 3| EHE 10kg 18,000/ 1,512 —1{ 1,080
ZA LA 10,000 |[&Y 0 — — —
X ER 5| FHEE 10kg 10, 000 —| 3,240 —
(< &L 3,000 |[¢Y 0 — — —
A% ER 3| EHE 12kg 3,000| 1,296 — 648
FrRY 20,000 |&Y 0 — — —
X ER 5| BER 10kg 20,000 1,296 — 648
F5NAZES 5,800 |€Y 0 — — —
A% ER 3| N 170g 5, 800 173 — 108
h&E 10,000 [&Y 0 — — —
Xt ER 5| /37! bke 10,000/ 2,160 —| 1,404
25 3,000 |[€Y 0 — — —
A% ER 3| N 100 g 3,000 — 86 —
L& R 15,000 [&Y 0 — — —
Xt ER 5| EHE 10kg 15,000 1,944 —1 1,728
EpSY 5,000 |[€Y 0 — — —
A% ER 3| EER bkg 5, 000 —| 2,376 —




SH7E07/I15H

X

FRERHRRETHE FRHR

IFIFI

ARSTHES

(kg)

ct

tEAE

Fik

By

9,000

Ty

FAXER 5]

350g

9, 500

Y

HAxtER 5|

4kg

3,000

Ty

FAXER 5]

150 g

[Enivl &

11,000

Y

HAxtER 5|

10kg

f-EFhE

16, 000

Ty

20kg

FAXER 5]

20kg

H LU=

500

Y

HAxtER 5|

100 g

AN

2,000

Ty

FAXER 5]

bkg

ZEDOL

1,800

Y

HAxtER 5|

200 g

xS

1,000

Ty

FAXER 5]

4kg

242, 100kg
202, 100kg




FRERHRRETHE FRHR

BRI74E07H 158 R 242, 100kg

HX REREAL 202, 100kg

F&E HRFTHES TR AE AniE FEH Fik B [BREHE BR5T &8
(kg) (kg) =B H{E ZiE

LwAEL 1,000 |€Y 0 — — —
A% E | RiRE 150 g 1,000 270 — 194
ZDEFET 1,000 |€Y 0 __ __ —_
X ER B EBE 200 g 1,000 76 — 65
HFY—2F7RIRT 1,500 |[&Y 0 — — —
FE*IE S| N 100 g 1,500 151 — 108
MmEHE 0 |EY 0 — —_— _—
HE*TE S| 0 — — —
H=—LaR 1,000 |[€Y 0 — — —
FE*IE S| REHE 4kg 1,000| 1,404 — 864
Sl Mgl N 3,000 |&Y 0 — — —
X ER S| BEE 200 g 3,000 — 216 —

E535CL 5,000 |&Y 0 — — —
HAXTE S| HARE okg 5, 000 —| 1,404 -

ZEEED 0 &Y of — — -
%R E| 0 — ] -

F D 50,000 |&7%:% —- 50, 000 — — —
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BHI7E07H 156 HRIRFEHE 242, 100kg
RR RS E A 35, 000kg
F&E HRFTHES R AHE AniE FEH Zik B [BREHE ARFEEEE

(kg) (kg) =B HE ZiE
HD A 1,500 |&Y 0 _ _ _
MREE  [/1\HR hER 350 g 1,500 — 540 —
JL—77)L—Y 0 |8V 0 — - _
X ER 5| 0 — — —
NFF 3,000 |[¢Y 0 — — _
A% ER 3| J4UEY 13kg 3,000| 3,888 —{ 3,240
LEY 1,000 |[&Y 0 — __ —_
X ER 5| F 1) 17kg 1,000 —| 8,640 —
b 1,500 |[&Y 0 _ __ ___
A% ER 3| FLE bkg 1,500/ 7,020 5,940 4,320
SES 1,000 &Y 0 — __ —_
X ERE| =3 N 350 g 1,000 — 864 —
S BHAIFE 0 |[&Y 0 _ __ ___
A% ER 3| 0 — — —
A0y 2,000 |€Y 0 — __ —_
s [F—LR B IR Okg 2,000 —| 19,440 —
ERAY 12,000 |[#Y 0 _ __ ___
A% ER 3| i8R 18kg 12, 000 —| 5,400 —
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BHI7E07H 156 HRIRFEHE 242, 100kg
K= IRFEEHESET 35, 000kg
F&E HRFTHES R AHE AniE FEH Zik B [BREHE HRFcE4E

(kg) (kg) =B HE ZiE
FLoo 1,000 |[&Y 0 — - —
A% ER 3| F—R YT 17kg 1,000 —| 8,640 —
NAVTFyTI 1,000 |&Y 0 — — —
A%t ER 5| J4UEY 10kg 1,000 —| 4,320 —
£ 4 TN—Y 1,000 |&Y 0 — — —
A% ER 3| —a1—S—35UFR 3. 5kg 1,000 —| 2,657 —
FOMER 10,000 |&A3%k —- 10, 000 — - —_
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{AERE S E 242, 100kg
Z Dt REHE AR 5, 000kg
FRE REHEH | =BH% oiE FEH = B |BRENE RS &4
(kg) (kg) =iE H{E ZiE
ZDith 5,000 (&A% - 5,000 —_— —_— —_—




